

Short
Takes
331

The binomial
theorem



Binomial Theorem

$$(a+b)^n = \sum_{k=0}^n \binom{n}{k} a^k b^{n-k}$$

$$\frac{n!}{k!(n-k)!}$$

"binomial coefficient"

• By induction!

• Prove $n=1$ $(a+b)^1 = a+b = \sum_{k=0}^1 \binom{1}{k} a^k b^{1-k}$

$$= \binom{1}{0} b + \binom{1}{1} a$$

\uparrow \uparrow

1 1

✓

• Prove case n
implies case $n+1$

$$(a+b)^n = \sum_{k=0}^n \binom{n}{k} a^k b^{n-k}$$

let's see ...

$$(a+b)^{n+1} = (a+b)^n (a+b)$$

$$= \sum_{k=0}^n \binom{n}{k} a^{k+1} b^{n-k} + \sum_{k=0}^n \binom{n}{k} a^k b^{n-k+1}$$

$$= \sum_{k=1}^{n+1} \binom{n}{k-1} a^k b^{n-k+1} + \sum_{k=0}^n \binom{n}{k} a^k b^{n-k+1}$$

$$= \sum_{k=1}^n \left[\binom{n}{k-1} + \binom{n}{k} \right] a^k b^{n+1-k} + b^{n+1} + a^{n+1}$$

